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Compute d_y in each of the following:
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13. y = 2% sin®(52%)
14. y = (tan(z) — cos(3z?))*
15. y = sin(cos(x)) + sin(x) cos(x)
16. y = z%csc®(vz — 1)
17,y = 1 — cos(2x)
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y = +/sin"!(2x)
y = cos (/1 —2x)
y=Vi=z
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y = tan~! *
1+ 3z

y = In(tan(z))

y = In(z? + In(z + In(x)))

y=
y = (4%2 . 7>2+\/JT—5

In(z +y) = tan™! (E)
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?+ay+1y?—3=0

zcos(y) +ycos(z) =1

y = 2°5c(@)

y=1t>+2 and t = tan(z? — x)

y = 33902

—1
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y = (22 +4)4 (2% — 3)3/4

y = 24/4sin(x) — 6 cos(2x)
2? + cos(2y) = 3

y = (esin(x)

—V/2z) (2 — 9)(tan(z) — cot (z))*
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